
Pre-release booklet
Water management

1. Annotate your booklet as I go through it.
2. Homework tasks to help you understand this booklet over Easter.
3. Our lessons after Easter will be based around this booklet.
4. The walk through mock will help you understand how to use this 
booklet in the exam and answer the Qs about your fieldwork.

IF YOU MISS THE WALK THROUGH MOCK MAKE SURE TO 
ARRANGE A CATCH UP OF IT. IF YOU DON’T DO IT YOU WILL 

BE AT A DISADVANTAGE.



There are three figures in the booklet:
Figure One: Water in the United Kingdom

This is an overview of where water is found and in demand in the UK.
Figure Two: Managing water demand in Oxfordshire

Information about water changes in Oxfordshire and what is causing these changes
Figure Three: A new reservoir for Oxfordshire?

Information about a proposal to build a new reservoir at Abingdon



What is the correlation between 
rainfall and water stress levels?

Low levels of 
rainfall with an 
average below 
500-749mm leads 
to serious water 
stress levels.

High supply

Figure 1



What physical and human factors cause this 
pattern of water stress in the UK? 

Figure 1



United Kingdom 
government's Department 
for Environment, Food and 
Rural Affairs, with 
responsibilities relating to 
the protection and 
enhancement of the 
environment in England.

Importance of fixing leakages:
Reduction of water leakages is an important goal 
for many countries in the world, as it will mean a 
reduction in the amount of money and energy 
required on producing and pumping water.
Why do you think it will fall in the future?

Importance of managing household and non-
household demand:
Reducing demand by improving the efficiency of 
appliances and changing attitudes towards the use 
of water.
Even with technological advances improving water 
efficiency why is demand predicted to increase?

Population increase and climate change
Ofwat has put leakage management standards and 
annual leakage targets that each water company 
must not exceed.

Figure 1



Figure 1

What are the differences between the existing and 
suggested water transfer schemes?

Why is there a need for 
the suggested scheme?

Reservoir that supplies Birmingham

1. All transfer majority of the water to the South-East 
of England. 

2. Longer than existing transfers

THINK – Majority of existing transfers are short up in 
the North. However, we looked at the North-South divide 
which suggested most people live in the South.



What are the benefits and problems of the 
proposed schemes?

River Severn transfer to the 
River Thames

Gloucester and 
surrounding 
towns views?

River Thames’ 
surrounding 
towns views?

Against as 
reduces the 
amount of 
water 
available to 
them.

For as will 
increase 
the supply 
at times of 
shortages. 

Is it realistic to bring water from Kielder
Reservoir (in Northumberland) down to 
London? 

Areas that already 
benefit: 

Major cities: 
Newcastle, 

Sunderland, Durham, 
Darlington and 
Middlesbrough.  

YES
The North East 
now has the 
most reliable 
water supply in 
England. 

NO

People had to be 

relocated when the 

reservoir was built 

building the transfer 

channel would do the 

same. 

Figure 1



Which ONE do you think the main 
reason and why?
There is no right answer it’s how 
you justify it.

Figure 2



Managing water demand in Oxfordshire - What map evidence is there that the location is suitable?Figure 2

OS map 
shows 
flat land

Large open 
space 

Near to 
rivers, 
attached to 
tributary.

Can be used 
to feed into 
canals when 
needed.

approx
5km2

Close to 
London

What map evidence is there that the location 
is not suitable?

Property would be 
flooded such as 
farms. Would 
they be 
compensated? If 
so who will pay? 

Loss of a solar farm 

Disrupts the road connecting 
East Hanney to Steventon. This 
will lead to a new road diversion 
which will damage the natural 
environment?

Disruption to the rail line?



Figure 3 A new reservoir for Oxfordshire?

Predicted to increase by approx. 20% 

If they don’t build the reservoir they will 
struggle from this point.

During higher temperatures (20+) rainfall 
is lower and demand fluctuates reaching 
it’s highest points. 

Lower rainfall leads to increased 
frequency of rainfall events resulting in a 
more stable demand for water. 



Figure 3

Farmoor – an existing reservoir in Oxfordshire



Figure 3 Some stakeholders would be against this… but who?

RSPA
Environmentalist
Not be happy 
with the 
disruption to 
habitats as could 
put some species 
in decline. 

Local residents 
nearby. May 
decrease house 
prices.

Marcham Commuters –
Congestion on the roads. 
Local residents as 
materials would have to 
pass through villages.

Stakeholder: Person with an interest or concern in something.

Abington residents would 
suffer from flooding – affect 
their house prices.
Councillor as they have to 
manage their budget and have 
to increase existing flood 
protection.

Residents 
especially who may 
experience water 
supply issues. 



Figure 3

However… what are the 
positives?

Alternatives but these too 
have their own advantages 
and disadvantages.



Do you think that the proposed Abingdon reservoir should go ahead? 

Use evidence from the resource booklet and your own understanding to 
explain your choice.

This is an example of the decision-making question you could receive in 
Paper 3. In order to prepare for it complete the table using the resource 
booklet.

In the exam be sure to make a decision – do not sit on the bench.

YES

NO

HOMEWORK OVER EASTER

Remember 
to refer 

to figures 
1, 2 & 3



STANDARD
In your answer you should:
• State your chosen option
• Give the advantages and any disadvantages of your chosen option
• Explain why the option you have chosen is more sustainable than the others
• For one of your rejected options give two reasons why you rejected it and one 
possible advantage of this rejected option

COMPARISON
Choose one of the methods. 
• Explain why your chosen scheme is more sustainable than the other two schemes
• Explain why it could be more effective to use all three schemes together 

All TOGETHER
• Choose one of the methods. 
• Explain why your chosen scheme is more sustainable than the other two schemes
• Explain why it could be more effective to use all three schemes together 

Possible other structures


